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a=input.nextint ();
b = input.nextint ();
¢ = input.nextint ();
if(a+b==200 || a+c==200| b+ c==200)
System.out.printin (" yes");
else
System.out.println (" no");
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int countl = 0, count2 = 0O;
for (inti=0;i<51;i++)

if (arr[i] ==1)
++
countl ++; - NADN MIVOIN
else
count2 ++ : countl -5 1 5w Dy9NN 990N NN P NI )N

. count2 = 51 - count1; :2VNY NNDIDN DYON
if (countl > count2)

System.out.printin (1);

else
System.out.printin ( 7);
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int a, b;
for (inti =0;i<38;i++)
{
a=input.nextint ();
b = input.nextint ();
System.out.println (a+b);
if(b==0)
System.out.println ("indivisible");
else
System.out.printin( a/ b);
}
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import java.util.Scanner;

public class Targil6 {
public static void main (String [] args) {

Scanner input = new Scanner (System.in);
int count = 0, price, sum = 0, n, discount;

System.out.print ("2 pUxIN VMO PAR —");
price = input.nextint ();

while (price!=0)

{
sum = sum + price;
count ++ ;
System.out.print ("7 Xan V9N PP > ");
price = input.nextint ();
}
n=sum/800;
if (n!=0)
discount =50* n;
else

discount = O;

System.out.print ( discount + " : PNYNN NAN");
sum = sum - discount ;

System.out.println (sum + " : 7PN NR");

if (count >= 4)
System.out.println ("nnyn 921wY *8OT );
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public static double pay (int numl, int num2)
{
double sum=0;
if (num1 > 250)
sum = sum + (numl - 250) * 0.2;
if (num2 > 100)
sum = sum + (num?2 - 100) * 0.3;
return sum;
}
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int numl1, num2;
double toPay;

System.out.print (" 7 9Ty 19005 NNYY MPT 00N > ),
numl = input.nextint ();
while (numl >=0)

{
System.out.print(" 7 ©INX DM90NY NNYY MPT 0N — ");
num2 = input.nextint ();
toPay = pay (numl, num2);
System.out.println (toPay + " : oy¥wnb oydon ™);
System.out.print (" 9Ty 2900Y NNYY MPT 900 > ");
numl = input.nextint ();

}
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public class Targil9{
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static int nodeltem (int [][] m, int line, int col)
{
if (sumOfLine (m, line) = = sumOfColumn (m, col))
return 1;
else
return O,
}
/l line 7wy MnxVY NN NIYL
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static int sumOfLine (int [|[]Jm, int line)
{
int sum=0;
for (inti =0;i<17;i++)
sum = sum + m[ling][i];
return sum;
}
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static int sumOfColumn (int [][]Jm, int col)
{
int sum = 0;
for (inti=0;1<17;i++)
sum = sum + m[i][col];
return sum;
}
public static void main (String [] args){
int count = 0
int [][] mat = new int [17][17];
for (inti =0;i<17;i ++)
for (intj=0;j<17;] ++)
if (nodeltem (mat, i, ) ==1)
count ++ ;
System.out.println (count + " : IN8DIW NNIXN MI2IN 190N );
}
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import java.util.Scanner; 110 nfic
public class Targil10{
Il YW DNXMHN TN 9 MO0 402 second -y first omndw 090N "YW : ND”D NIYL
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static int elapsedTime (int first, int second)

{

int firstMinute = first % 100;
int firstHour = first / 100;

int secondMinute = second % 100;
int secondHour = second / 100; /I [mywn 2901

i . MDTN 190N 2IWAY NP NI 7
int hours = secondHour - firstHour : e ' L

int min

*) if (secondMinute >= firstMinute)

else

{

}

return

}

public static void main (String [] args}{
Scanner input = new Scanner (System.in);
int min=12*60 ;
int first, second, time;
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utes,

minutes = secondMinute - firstMinute;

return
(secondHour* 60 + secondMinute) -
(firstHour*60 + firstMinute) ;

: IN-Y2 NIAY DY NNYNN *9))

minutes = (60 + secondMinute) - firstMinute;

hours = hours - 1;

(hours* 60 + minutes) ;
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: avnY

minutes ;= secondMinute - firstMinute;
return (hours* 60 + minutes) ;
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for (inti =0;1<127;i++)

{

}

System.out.print ("no>nnnn nyw - ");
first = input.nextint();
System.out.print ("ovon nyw — ");
second = input.nextint();

time = elapsedTime (first, second);
System.out.println (time + " : nx 0 )y qen );
if (time < min)

min = time;

System.out.println (min + " : 92591 ya3");
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